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Instructions for the candidates :

,  gderef OMR 3T GA®F §T AT 1. Candidate must enter his / her

gvq giedwr mAE (10 @l @) Question Booklet Serial No.
HaTIq ferd | (10" Digits) in the OMR Answer’
Sheet.

o ghwref Fyrgye 97 ¥sl H & 2. Candidates are required to give their
3t &/ answers in their own words as far

as practicable.

3. A IR ERE W i3 gu 3f% YUIl% 3. Figures in the right hand margin
e #Fd &1 indicate full marks.

4. geH F argEE UgH @ U 4.
FereferEl &1 15 e F1 HiARd 5T allotted for the candidates '© read
fear mar &1

the questions carefully.

15 minutes of extra time have beel

5. I8 v fTET § @Usl 4 8— @Ue-H 5.

] This question pooklet is divided into
g GUg-/

two sections — Section-A and
Section-B.
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e computer in case maore
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pen against the correct option on
OMR Answer sheet provided to you.
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blade / nail etc. on OMR-sheet,
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there are 30 short
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{each

answer _ type
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15 questions are to be answered.
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carrying 5 marks), out of which any
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ARG WA / Objective Type Questions .
oy G z#zooaﬁ%miwwﬁwﬁ?ﬂ??ﬁﬁ’*#wwmw
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is correct. Answer any

<. 1 to 100 have four options, out of which only one
50x1=50

Question No
the OMR-Sheet.

50 questions. You have to mark your selected option on

?ﬁ%{A:[%‘ 0},3:[15 OJ,T‘WEFA=B,H>( o T AFA

1. 5 1 5 1
Ay 1 B -1
c 4 (D) =7 W Hie =@l
If A= Lr‘g" ?J B = {15? ﬂ , when A = B, then the value of ais
(A) 1 (B) -1
(c 4 (D) = none of these
2. tan™'1=
o B
n i
\J@/ ry D) 5
3. cos (sec™! x+cosec” 1x)=
(a1 B) -1
C) O D) =
J2

4 cos® -sin®
sin) eosO

(A) cos 20 V(Br‘ 1
(C) © o -1
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(sin x + cos x)?

dx
(A) 2log(sinx + €08 X) +¢
(C) log (sin x — cos x)+c

6. tanl ﬁ—cot“](*ﬁﬁ

@ =

(A) 2A
(C) 27A
- —
8._ a.a=
(A) ©
© laf?

nx+c05xl+c

(B) log (si
1
(D) - gmxrcosx
(B) 0
L
D) 3
(Bl 3A
o @ 15 el
B) ~ 3A

(D) none of these

Pes

-»

D) lal

9. a?ﬂa:zaﬂ”(zz oo gehTs diew &, @ A FIAA T

(A 1

c 2

(B)

1
2 |
D) T Y B
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-
If |a|=2 and A

1

(A)
(C) 2
— o L
10. x:’+y}’+zk EFTTIT‘TIH'?%
@A) xZry’e z?
(C) "JJC + + Z
- = ,
The modulus of x 1 +Y J +zkis
(A) x2 + y2 + 22
(C) ‘/x +y+ Z
11. %[tanxQ)-%
(A) scc x?
(C) 2x? sec? x2
12. 9 (Jeotx)-
dx
L‘A’/ _L_.
2Jcot x
2
(C} — Ccosec x

2J/cotx

g is a unit vector then A has

the value

1
2

none of these

(B)

(D)

\J.B( . 'J)cz-fngrz2
(D) [ S—
ng +y2 + 22

2
‘fxg +y2 +Z

I S—
2

x2+y2+z

-—p

BT
AP

2
2xsec? x

wer”

sec x
(D) —FH—

2x

COSC(22 X

cosec’x

2Jcot x

(B)

(D)

ous Pathshala
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13. d . _
'&'}"{Sln l[3){'‘-4)‘7‘:“]-}; .............. : :_355.\5-
(A) 1 (B)
1-x?
(C) 3 .
i—x2
14, i[s'.i:"ll\/;}=
dx J—'
A)  cosVx i S
___L-,c.'t‘ﬁJj\_
(C) ;%:mmJ? B S0k
X
15. ag;[Ztan_lxl=
y)
1 B P
(Al 1+ x> " e <
1

1 ]
() 2 1+x?)

d [ wm x"ca’_
16. H;Exﬁﬂ x=-a f
fAJ nan—] 'IB} 1
..g-' i 1 - -1 7 =
17. desm J_x- CcOS J;}
h {
a3 B 0
o 1 O Vx5
dx
18. .- - S
Ix—i
(A) log|x-1]+k B) -logll+x|+k
(D) logx+k

g loglx-1j+k
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3 3
] d?y HAY ] 4oy=sinX
19. FHdHA Ric Al {dx)] +2(dx

(A) 3 (B) 4
(c 2 o) A EE
i i dzy 3+2 fi_lifa—‘)y:sinxis
The order of the differential equation g;{ T
4
@ 3 VLB/
(C) 2 (D) none of these€
4
-1
20 X dx=
Ix'g + 1
B) E--2x+k

(CJ ?+x+k
21 aqa?m*ﬁmﬂmwxdwydxﬂoﬁg'ﬁ%
2
x? y2_ B ‘ﬁ—g-':k
C)  xy=k D) T H HE

Solution of the differential equation xdy+ydx =0 1is

2 2 2 2
A X~ Y _ \J@(:’E__E_z
(A) 55 k 5 k

C)  xy=k (D) none of these

[ }21/327 ] J |(A)-9003C0767 = PaPageof 32




22, 3ahel YT Méi:oamm%

y
x_ =k
A L=k B 2
i & e
© X=k o
y
tion M.—:O is
i i i
Solution of the differential equa y2
X =k
1)
Ay L=k .
< =k (D) none of these
C = =
(€) y

23. Wﬁm L py= Qw;qnﬁﬁ:fqvﬁﬁ%

Ide (B) eIde

\}e/ eI 7o (D)
% ' ion SY +Py=0Q 1s
ntegrating factor of the differential equation v

Qv

w O B e
) eIde- D) e[ody
24, j.(kxi)=
_AAJ/JO B) 1
o J

c -1

[121/327 ] J [(A)-9003°045 | " Pdge 8 of 32



és. ;;; ;J=
> (B) y x z|
A  lzy xl
zxyl
— > = X
© I[xzyl Jor” 1
d , _x2) =
26. (")
Vfﬂ/ <’ (B) 3x7e”
3
(©) 3x2e” ()  3x%€*
d Xy =
L (B) log3
3)(
\_(9/ xog3 D) 1
28, i(_,l——+exj=
: dx\sinx
1 x (B) cosecx +e*
'(A} YT, 9 +€e
sin” x
(C) - cosecxcotx+ e* (D)  cosecx.cotx+e”
- 2 =
29, kx(ixJ)=
P -
um/ 0 (B) 1
4 -
€ J (D) k
' —Previdus Pathshala,
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30. Ilogzdx =
{A) x+ K
(C) xlog2 + k
31. I__‘:’LE.E———-CIX-
sec x+tanx
(A) tanx +secx+k
{C} SCC.’C+k
1-cos2xX cos 2X 4
32. Il+ cos2x *
(A) tanx+x+k
() ~x-tan’x+k
33. J‘cotgxdx=
(A)  colxpXtE
(C) —colx-Xx+k
3
34. xdx =
0
3
A 7
9
€ 3
35. J (x? +1)dx=
8
A —
@ 3
13
C i
(€) 3

ARl )

2+ k
(B) 108
P02tk

(D)

(B)

o wtE

|0

(D)

(B)

w|=

Wl

(D)
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Iﬂfzcos xdx=
(]
® !

(A) 0
_ )
©) 1 (D) 2
I dx__
37. jo—#x =
(A)  log2 ® e
© plog? (D) ~2log?2
38. fﬂmlogcote-d‘)‘
(A)  Slog? B o8l
(C) 2nlog 2 o
©) 0 (D) 4
n/2  cost
40. I i o =
0 IO cos0+sind %
(A) n B 5
(B) 5
n
€ 3 (D) %
a1, [ eFdx=
0
A) e - B e+l
(C) e-1 (D) 1-e
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cos3x ].:

42 _d_, Iim
dxt x—0
(A) -sin3x
(C) - 3sin3x
43. -&d;tﬁh
1
| (A) Ix
‘/Q/ .
{ 2Jx
44. cos " }(2x)+sin”
T
(A) 5
(C) n
45. sin_l('rxj =
(A) g—sin‘lx
(C) -sin"lx
46. cm'I 1 =...3..%
X
(A) -—cot™lx
€ tan lx
10 2|_
47 / 35 7}‘
~
W 140
r
(C) 35

-

(B)

(B)
(D)

L(2X) = eevneenieneene 2xe[-1,1]

(B)

(D)

(B)

© aiA

s'm'1 X

(D) .

(B)

(D)

. (B)

AN

%)

L s.in']L x
2

0
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48 B ?J+[? é] =
2
w  [3 8] o [3 3]
11
o [33] g k )
d _
49 a;ts")
A 5" B) x5*
(C) 5* (D) 5% .log, S
log 5 e
50 J.:q:-(x}dx+j;(p(xldx =
o) 2f el dx @  2f otadx
cy © (D) 1
x+1 ® m2
51. qe w2l 0> =1 T4 | © x+m2_ 1 =@ x=
2 =Xt
a o B o
C o D) T | HE R
x+1 © 02
If o#1, wl=land| © x+ 02 1 |=0 thenx=
®? 1 X+
A) O B o
’ .
€ o (D) none of these
et
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52. gfe 4.|cosu —sina + A =1 T
A A 2

sina cosu

LS
(A) n - B 3
(C) 5 6
If A:[cqsc; _'gé!;g:( and A +A'=1,, then o=
sSin
T
A om ® 3
3n {D} IE_
(C) > 6
53  AUE o O & Al A + A 3T B R
aHe
(A) GG TR @) T FHAd
(c) ¥ H ) A T
A is a square matrix; then A +A"is necessarily
a symmetric matrix (B) - askew symmetric matrix
(C) a unit matrix \/[(Df a zero matnx
54. A A=[i" (13] B=B (1)} #R a2-B, A A=
(A) -1 (B) 1
€ 4 D) T E FE T

A0 |10 2 _ =
IfA—[I 1], B—[Q 1:‘ and A“ = B, then A=

@ -1 | ® 1

< 4 £ (D) none of these

[ 121/327 | J [(A)-9003-Jwoypus Pagedsaf 32
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61.

62.

63.

()

(C) a
- —
i x kK =
(A) 1
-
\}9/ J
- =
axb=
- -
b xa
- -
(C) a.b
cos_ll_'x . N
1+x
(A) 2cos X
(C) 2tan” ! x
3sin” ! x= vreeenens 1 x|s

(A) sin~1(4x® - 3x)

(€)  sin”'(Bx-4x°)

@ 3

o -3

oA

(B)

: T
(D) "%

[121/827 ] 3 [{A)- 9005506 | age 16 of 2



sin{sec”l x+coscc‘1x} =

64.
a5 B O
) -1 o)y 1
65. 2tan"%—+1an"]~;—=
VI B
(C) 3’5 (D) 2n
1 2 '
66, @i |3 7 9| FEAAE
4 8 16
(A) 23 (B) 0
c) 1 D) T " B el
1 2 4
The value of the determinant |3 7 _ 9 is
4.8 16 '
(A) 23 uBr. 0
(C) ] (D) None of these
1 a b+c
67  AXTE |1 b c+alFHAAE
1 ¢ a+b
(A) (l1+a+b+c) (B) (a+b+c)
€ 1 D) O
1l a b+c
The value of the determinant |1 b c+ajis
{1 ¢ a+b
(A) (l1+a+b+c) (B) (a+b+c)
) 1 - D) ©

[121/327 | J [(A)-0005.00 | " Page 17 of 32



68.  wnfors 177‘ }é ég ] A &
29 31 37
(A) -36 : By 36
(@ @rg A
(© 20 D)
7 11 13|
The valuc of the determinant 12'5 13‘3'1 %:; is
(A) - 36 {B) 36
(c) 20 (D)  none of these
eo. s a=[_} T}]. 7 4=
A) 34 B) 4A
gef 24 o) A FE @
If A=[_i ‘ﬂ then A% =
A) 34 B)  4A
(€ 2A (D) = none of these
a h g
70. IMYE |h b f -4
g f ¢
(A)  foom gofoa aege (B) G TR
(C) U e D) T ¥ HE
a h g
Matrix |h b f|is
g f c
(A) skew symmetric matrix \){ symmetric matrix
(C)  unit matrix (D) none of these

[121/327 |J (A)-9003udide)u; PPags-ld of 32



71.

N Y
© e
72 d(f"’ (sin2x) =
(A)  4sin2X
(©) . 4sin2x
73. %(e*”“ﬁ
() e
© e
74. %fxﬂ:
(A) 4x3
C)  24x
- aq;( x2+ax+1) =

2x +a A vl
(C) x% +ax+1 : Qm
76. Ed;(Qele =
2e2* (B) e
P
vi athgiade 19 of 32
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77. ac_i)?‘”ugxn =

N @ n
x?l
> ! (D) =
" * ) &;mtﬁ'éﬁ% ?
2
78.  aft A={a,bchB=1123} s f={(a.1).(b,2): (6 )}
3T¥he ol
@A) T afe: & (B)
) I HTDEE o) TP al Eti h: e e o s
If A={a,b.c},B={1,23} and f={{a,1),(b,2¥,{c’2”
function is f? .
_one in
(A) onc-onc into (B) many-© i
; o
many-one onto (D} one-one N ]
79. 3R f:R >R, S8l Flx)=3x -4, f 1) FrEAfefEd
| e X
—\ X
(A) %[x+4} (B) (
GG
(C) 3x-4 (D) HAN
) ?

If f:R — Rsuch that' f (x)=3x — 4, then which of the following 18 f

| "
) F(x+4) B  glx=%)

\ﬁl/ 3x—-4 Dy . undefined

80. coscc™! (- x)=

1

: : (B) - cosec X

(A) T _ coseclx
: - (D) ~ cosec ' x

(C) cosec” 'x

[ 12 1/327 1J (A)-9003-J@erViouBagat2@0fd2




(A) 1 (B) -1 .
(C) o (D) A A F1§ AL
-+ e - =
If a 1 b&,then a.b =
(A) ! B -1
{C) o (D) None of these
- =
82, i.(jxk}= )
JM/ 0 B 1
(€ -1 (D) 2
83. Ilogxdx=
(A) ;1‘”\' (B) xlogx +k
(C) xlogx — x+k (D) - xlogx +x+k
A2
84. n =
(a0 : ot
cy -1 (D) n

v e , y 3 o 0 6 B 5 R g, ARy P R

(A) cos?a +cos2 B+ cos? y+1=0 (B) sin?

u+sin2B+sin21=1
(C) cos? a+cos? B+c032 '7'= 2 _(D) cos? o+ cos? [.’.-1—<:v::s'2 y=1
If a line makes angles a, pand y with the positive directions of x, y.and z axcs

- respectively, then
(A) {:052a+cos2ﬁ+cosgy+l=0 (B) sinza+s'm2B+sir12 y=1

_ .
(C) C082Q+0032B+C0527= 2 (D) cos? a+cos? p+cos”y=1

1217327 | J [(A).0003 Jwr] Peee 21 0f32
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86, W& il ax 3y » WM Ox oy
@A I (B)
© = (D)
The angle between the straight lines 2x=3y =~
A 5 (B)
© 3 (D)
g7, dfz A B 3R C A g geAd #, Al
(A) P(ABC)=P(A)+P(B)+P(C)
(B) P(ABC)=P(A)-P{B)-P(C)
(C) P(ABC)=P(A). P(B). P{C)
(D) FH & B Tl

4z & sira @1 101 ®

0

If A, Band C are threc independent events then

P[ABCJ=P(A)+P{B)+P[C]

(A)
(B)

P(ABC)=P(A)-P(B)-P

(C)

V(Qj/P(ABC)=P(A).P[B]-P(C)

(D) none of these
88. P(A)+P(A)=
a) 0
-1
89. 1-P(A'NB)=
(A} P(ANB)
© Q) P(A)

% .
7 and 6Xx Y 4218
O
a
B) 1
D) P(S)
\/f”/ P(AUB)
(D)  P(B)

[ 121/327
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!
Z = 3x + 4y F1 AfgehdH HA

Qo
STef fah =gai x+y < 4

x20,yz0
e
(A) O B) 12
©) 16 (D) T ° WS i
The maximum value of Z = 3x + 4y
subject to constrairits x+y<4
x 20,y 20
is
(A 0 \ua/ 12
(C) 16 (D)  none of these
91. m:@g%mﬂﬁﬁwmﬁwm%
x Y. .2_ x, Y,z
(A) ‘5+B-+E-—O (B) a+b+c 1
c X£-Z4-2=0 o) T S
a b ¢
Standard equation of the plane in intercept form is
A x, Y. z_ x Y. z_
(A) a+b+c 0 B) a+b+c 1
(C) f-—%-—f:O (D) none of these

A6 B) 5v2
D) T I FE

(C) 50

i P of 32

21/327 ) J |[(A)-9003°34




The distance of the point (=3, -4,

(A) 6 ) 542 .
(D)  none of thes
(C) so
93. (-4,-3.7) 3R (-1,1,-5) FImw g e
A) 12 ® 13
© 14 (D) el

- is
The distance between (-4, -3, 7)and (-1, 1,-5)

A 12 ‘)3/13

. f these
(C) 14 (D) none o

o4 a4 3R B % wemt p(%}p[%):

(A) 0 (B) 1

(C) -1

If A and B be two events then P[ﬁ]-rP(%):

B
(A) 0 &I/ 1
(C) -1 (Dj - none of these
95. Eci-(sin 2x)=
(A)  cos2x | B) Los2x
. 2
(C)  2sin2x (D)  2cos2x

[121/327 10 [(a)-00652075; 15424 of 32




d

96. a?{lankx}z
(A) scc? kx (B) Kk sec? x
’ (C) ﬁ:_kx (D) Kk sec? kx
97.  [(x+2)dx=
2
A)  (x+2P+k B Gtk
‘)e/ %2+2x+k (D) log(x +2)+k
3
98. J'] dx =
A) 4 (B) 2

A‘C)/ ' 1
3 (D) 5

2
99. Ion'/ cos xdx =

(A) 1 B -1
(C) O D) 2
100. Isinx.cosxdx=
1. sin x
(A) 551n2x+k (B) 5 +k
. 2 2
€ S=+k . D ek

121/327 ]J {A)—QO%...:E (40) =N age 25 of 32 ;




@ug - § / SECTION - B e
stio
x Typﬂ Qu. . *
orq Iwdta 9¥T / Short AnsweX - ) .$.31=r\"a'fm firy
= 1 el

T wwmr 1 @ a0 qw ag woa &1 FH A 15 % 2 = 3

4. luch gquesy

2 % Fragffea &1 Y15 quﬂ-‘*““" sy
] 3 swer Type. Answer uny D X2~ 34
Question Nos. 1 to 30 are Short Answ Y
carries 2 marks.
1 1 ’
| Ak a=|x oy T aa T ehifeid |
x? yz

2

Y “

11 ,
If A=| x y |, thenfind AA".
x2

7A
2. BT | x & °E T HiE
2x-y S} (6 5
3 Yy -3 -2}
Find the value of x from the following :
2x-y S5)_(6 S
3 Yy 3 -2}/
16 9 7 . .
3. arfres |23 16 7] @1 AF A A
32 19 13
16 9 7
Evaluate the determinant (23 16 7 |.
32 19 13

dy ;
9. dx ﬁ’ffﬂt_:f, ST x=acos?0, y_=asin20.

., dy '
Find P when x=acos?6, y=asin29.

[ 121/327 ] J [(A)-9003-Jup. )0 Poge 032







. 2 2x2
Leos'i——2) 1-%

k2. ﬁq@ & fob ldn( sin ]—g_x'_;g'"'ﬁ.cns 14 X
2 1+ x

1 xg) 2.
; |l X =T
Prove that tan[%sin'iﬁ+§cus 1+x2 1—-X% ﬁa%—‘
ot
) T 5
13.  fag i & afkw (s, -4, 2) 3R (2 Ldﬁtl2 Ty e per
Show that the vectors (5 - % 2 ) an
another. R . . 3?4’4#}‘
a4 o b F, S T _2i-3k, b= )
. . U -
P Fe * =31 +47]
Find a x b whcrca=21f3k, b R
P
Y a
a ~(2,2.2)
> @ e - angle petween the Vectoy
5) and b =(2,22), then find the
If a —-(2,3," arl = ¥
_—’
a and b .
16, goT F: y(l+ay)dxsxdy =0
Solvc:y[l+xy}dx—xdy:0_
17. &1 &R +1 e LS
Solve : £i—y—+1=e"‘“‘y_
dx
fog rd 2 42
18. ﬁ%(cwb)( _b)=a’-b°.

> - 5 .2
Provethat[a+b]{a b)=a“-b".

19 GHFH Icoszxdx.

Integrate ."cos2 x dx .

20. dx T:ﬁk_'{ vid y =sin(log x}.

. dy :
Find I when y =sin(log x).
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g @i ady +ydx xy.dy.
50 3T 6O° 1 T

21,
Solve @ xdy o ydx xy.dy.
22, W WA Tl x S yowdl sl T fagn @ @M TR 4
QAR B | B 5 378 Y A (G & A fepreren apton Aty 2 2
and 60° with the positive direction of the
make with the positive dircction of

A straight line makes angles of 45°
x and y-axes respectively. What angle does it
i sfeEug FwIRE 3, 4 £

the z-axis ?
2

Hﬁmaﬁmamaﬁﬁmhﬂ%x.ysﬁiz&
¢ axcs of x, y and z arc

-5¢l
Find the cquation of the planc whose intercepts on th
respectively 3, 4 and — 5.
¥ B' b
gfs P{A}:%, P(B].-:_;, e P[AﬂB]:%,?ﬁ P(—%) aill P(;ﬂ ferepTet | 2

! B'
and P(AﬂB}:%, then find P(-‘g—,) and PL—E)

If P{A}-_-:g-, p{B);%

. 23 11 12

25,  fag #¢ fF |46 20 26 |=0.
65 45 20
23 11 12

Prove that |46 20 26 =0
65 45 20

d :
—a% fqepTet STl y=JSinJ}-.

26.
Find g-ii , when y:\}sin&.
. . 2
27. Y Pl o y=SIL X
dx . Jcosx
sin® x

.., d
Find d—y-, when y=——=.
X Jecosx
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33. fag sifsg -1_pg- 3 &
% (aBy'=p-1a"! @i T A:Yi 2 %,B{ X ?:X
1 1

| i 111 283
Prove that (AB)"' =B '4"! , where A=|1 2 3).B= 3 120
119 121

dy .
34. = A, 19 xV+y*=1.

. dy
Find —— Y =1
dx’ when x¥ +Yy 1

35, @aRRe U [tan® xdx.
Integrate Itan4 xdx .
X (x? -y
36. & @ (k7 -y )g, =Y
dx
Solve : (x? - yzl% =2xY .

el 3x+4y-5z=2 &% wmE 75 (3 el
spect to the plane

qﬁﬁmﬂmﬁ%ﬂ” T

Find the image of the poimt (3, 1, =4 ) Wit 1€

3x 1 4y - 5z=2.
s s T FAHE X

Hafeh x + 2y <120

x+y260
x-2y=20

x,yz20.

A
~

; -J Page 31 of 32
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Maximize and minimize Z - 5x +10Y

x+2y‘§120

subject to

Previous Pathshala





